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          Choose the correct answer
1)    is equal to  
    (a)                        (b)                        (c)                 (d) None of the previous

2)   is equal to  
   (a)                          (b)                            (c)                       (d) None of the previous

3)  is equal to  
    (a)                    (b)                      (c)          (d) None of the previous

4) If   then   then is equal to  
    (a)                   (b)                       (c)             (d) None of the previous

5) If and  are acute angles s.t  and  then is equal to  
     (a)                            (b)                                   (c)                      (d) None of the previous

6)  is equal to  
     (a)                      (b)                            (c)                 (d) None of the previous

7)  The derivative  of  is equal to  
     (a)         (b)          (c)        (d) None of the previous   

8)  is equal to  

     (a)                             (b)                                   (c)                      (d) None of the previous
     
9)  is equal to  

  (a)                     (b)                    (c)                   (d) None of the previous

10) Given  ,   and  in  , then  is equal to

   (a)                              (b)                        (c)                           (d) None of the previous

11) Given  then  is equal to

   (a)                                 (b)                         (c)                            (d) None of the previous

12)  Given  , and  in  , then  is equal to

   (a)                      (b)                  (c)                        (d) None of the previous

13) The average rate of change of   across the interval   to  is equal to  

   (a)                              (b)                         (c)                                (d) None of the previous

14) The rate of change of   at  is equal to  

   (a)                      (b)              (c)                       (d) None of the previous

15)  is equal to  

    (a)         (b)     (c)     (d) None of the previous

16)   is equal to  

     (a)                       (b)                       (c)                     (d) None of the previous

17)  If and  is an acute angle then the exact value of  is equal to  

    (a)                               (b)                          (c)                          (d) None of the previous



18)    is equal to

      (a)                       (b)                     (c)                  (d) None of the previous

19)  A ladder 20ft long leans against the side of a building, and the angle between the ladder and the building is , then the distance from the bottom of the ladder to the building is approximately equal to 
(a)                      (b)                     (c)                  (d) None of the previous
20) From a point on level ground 135ft from the base of a tower the angle of elevation of the top of the tower is , then the height of the tower is approximately equal to
(a)                        (b)                      (c)                  (d) None of the previous
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